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Crploc—, Machins. Language

Acompiler ___
(a) is a computer program

Translates a high level language into machine
language

(c) is a part of software
(d) None
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The lowest form of Computer Language is called ___

(a) BASIC . " ‘
(b) FORTRAN Comrpt] Tnyerprer=r

_4&¥ Machine Language CodL Line by Wine
(d) COBOL > Machive Check codl
_ Lamguage I ervors
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Assembly language

Uses alphabetic codes in place of binary number
used by machine language

(b) is the easiest language to write program
(c) Need not be translated into machine language
(d) None
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Study the following statement _ \
printf (“$£”, Efloatﬂ—>9/5) ;

What will it print? —
/(éf 1.800000 (b)1.0  (c) 2.0 (d) None

»
®
b e
@



..... sl

'.... g

oo What canr‘iuc;t replace “?” in the following code to print all
the(odd humbers less than 1007

iﬂmmq‘ ¢raW#mW)K//—— “W%MWMblr
—> for (1 =1; ?2; 1 = 1 +2)

@g (7 printf(“sd\n”, 1i); 1 S\DO‘V"}P'\/
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Consider the following C code

What is the value of r?
(a) 1.8 %1.000000 (c) 2.0 (d) 0.0

= |.00OO




HIag _ _ 7o &
It is necessary that every valid C program e
3Bl C

ust contain at least one function LA B
(b) Need not contain any function(X) @
(c) Need input data@ J

(d) None @
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(d) None

Prior to using the pointer variable

d be declared<—
d be initialized <—
d be both declared and initialized




malin ()

{

a = b = ¢c;

;
What will be the Output?%

(a) 2
(b) 3
S
ellr- . (d)yerror

int a = 2, b= 3, cC
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malin () \‘vxg

{ / congt nft &= 2
E:onsﬂ int /”;
il L value cam't lelrorge

printf (“sd”, a);
}
What will be the output?

(a) 2 Covst ,f[oad F()
(b) O
(c) 2.0 ol = 314
N %error
seclee.



#include <stdio.h>
int main ()




What will b e output if you will compile and execute the followingCcode?
#include<stdio.h>

int main ()
{
int a=2;
if (a==2)
{
a=~at2<<1;
printf ("%d",a);
} p—

- gm e

return O;

(@) It will print nothing
(b) -3
(c) -2

<4ﬁ? Compile error






JOIN US ON Q

JOIN US ON (=7 @

WHATSAPP

FOR MAH MCA CET 2025



